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B.E/B.Toch. DEGREE EXAMINATIONS, NOVEMBER/DECEMBER 2009.

SECOND SEMESTER

‘FLECTRICAL AND ELECTRONICS ENGINEERING
EE 25 — CIRCUIT THEORY

c (Common to T& C,E &)

(REGULATIONS 2008)

v

Timo : Throe hours Maimum : 100 marks

Answer AL questions.

PART A — (10 2 = 20 marks)

L Stato Obmalaw

2. Difforentiate béw mosh und loop analysis.

3. How do the current division mthod diffr from voltago division mothod?
4. State maximum pover transfer theorem.

5. Define resonance

6. Stato Dot rle.

7. Difforontiata boteen ataady atate value and transient value.

5. What i the significance of Laplacs thoorem?

9. What do you mean by phase sequence?
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10, Graphically locate neutral displacoment voltage in & 3 phase voltage phasor
diagram.
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Define quality factor of eoil and derive an expression for it in terms
of resonance and Bandwridth, ®

(i) Show that resonant frequency of the parallel circuit showa in Fig, 6
below is g, by o)

zts)

Fig. 6
or
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(i) Dreow the oquivalent circuit of  transformer. @

14, (& A sorics RL cireuit with R = 502 and L = 10 H has constant voltege
V2100V applied at ¢ =0 by closing of switch. Find

() equationof i, Vi andVy

(i) current =05V -

or

() to cirouit of Fig, 7, switch K is closed at postion A st ¢=0. Afler 12pve

ot time equivalent to ane time constant, svitch is moved to position B
Determiae the complote current, ae)

Fig. 7
15 (@) The unbalanced 3 phase load voltages of stur circuit are

5, <0125 860V

~157.40[ 10381V

5010|9564 V
Obtain the sequence companents as
or
) For s balansed 3 phaso cscuit, show that two watt meter roudings 70
1o 30+6)
W, Vil c00(30-0)- )
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